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TABLE 16

5.5 Hourly Averaged Sequential 3-Hour Tracer Data




469
TABLE 6

ONE-HOUR AVERAGED TRACER CONCENTRATION (PPT)

DELTA REGION TEST NO. SF6 TRACER
PDT - HDURS AFTER START TIME 08-31-76
STATION START HOUR HOUR HOUR
NUMBER TIME ONE TWO THREE
1 1347 0 0 Ao ok
1 1347 0 0 20
2 1344 6 2 0
2 1344 0 0 0
3 1339 2 0 0
3 1339 0 0 0
4 1335 -0 0 9
4 1335 0 1 o A ok
5 1331 0 7 43
5 1331 0 3 43
6 1326 10 24 103
6 1326 2 24 LR b
7 1316 18 57 281
7 1324 25 79 420
8 1312 235 522 636
8 1331 247 418 568
9 1337 124 94 7
9 1310 227 100 41
10 1341 7 0 0
iO 1308 28 4 1

xkx%x INDICATES UNAVAILABLE OR FAULTY DATA
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TABLE 6 (CONT.2

ONE~-HDUR AVERAGED TRACER CONCENTRATION (PPT)

DELTA REGION TEST NO. 1 SF6 TRACER
PDT ~ HOURS AFTER START TIME 08-31-76
STATION START HOUR ~ HOUR  HOUR
NUMBER TIME ONE TWO THREE
11 1306 2 e s e %k 2
1L 1345 2 0 A
12 1303 0 0 7
12 1349 0 0 0
13 1356 4 2 0
13 1259 *E AR 5 4
14 1404 LE 30 17 0
14 1404 | 0 0 0

*%x%k INDICATES UNAVAILABLE OR FAULTY DATA



TABLE 6

ONE-HOUR AVERAGED TRACER CONCENTRATION (PPT)

DELTA REGION TEST NO. SFA TRACER
PDT - HDURS AFTER START TIME 09-04~76
STATION START HOUR HOUR HOUR
NUMBER TIME ONE TWO THREE

1 1336 0 2 Rk &
1 1336 3 3 3
2 1333 1 3 7
2 1333 3 1 ok et
3 1330 3 3 2
3 1330 2 3 3
4 1327 8 2 0
4 1327 2 3 3
5 1324 4 4 3
5 1324 1 2 2
6 1321 6 11 3
6 1321 5 8 12
7 1318 11 4 7
7 1318 1l 14 6
8 1315 9 11 ok ok &
8 1315 9 ke 6
9 1315 10 6 4
9 1315 24 ] 3
10 1318 4 2 EExk
10 1318 2k ke Eoxk KKk

kkxx [NDICATES UNAVAILABLE OR FAULTY

DATA
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TABLE 6 (CONT.)

ONE=-HOUR AVERAGED TRACER CONCENTRATION (PPT)

DELTA REGION TEST NO. 2 SF6 TRACER
PDT - HOURS AFTER START TIME 09~04-76
STATION START HOUR HOUR HOUR
NUMBER | TIME ONE TWO THREE
11 1320 2 1 % ¥k x %
11 1320 2 2 i
12 1323 2 8 0
12 1323 3 4 1
13‘ 1326 4 7 4
13 1326 5 4 S
14 1331 25 15 7
14 1331 27 16 8

*kxx INDICATES UNAVAILABLE OR FAULTY DATA



473
TABLE o
ONE-HOUR AVERAGED TRACER CONCENTRATION (PPT)

DELTA REGION TEST NO. 2 CBRF3 TRACER

PDT -~ HOURS AFTER START TIME 09-04~-T6
STATION STARY HOUR HOUR H3UR
NUMBER TIME ONE TWO THREE
1 1336 0 0 o ok 3
1 1336 22 0 0
2 1333 13 19 0
2 1333 Ak A 0 i o ¥
3 1330 0 Bkt 0
3 1330 0 %ok X 0
4 1327 0 0 0
4 1327 0 3 e e 24
5 1324 25 0] 0
5 1324 0 0 0
6 1321 0 0 0
6 1321 0 0 30
7 1318 0 0 0
7 1318 0 0 0
8 1315 &k 155 A de sk
8 1315 0 ot e 32
9 1315 2794 2100 0
9 1315 2060 1710 0
i0 1318 0 0 e g o ok
10 1318 L33 2 * ok ek o ke

*%%x%x INDICATES UNAVAILABLE OR FAULTY

DATA
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TABLE 6 (CONT.)

ONE~-HOUR AVERAGED TRACER CONCENTRATION (PPT)

DELTA REGION TEST NO. 2 CBRF3 TRACER
PDT -~ HOURS AFTER START TIME 09-04~76
STATION START HOUR HOUR HOUR
NUMBER TIME ONE TWO THREE
11 1320 0 0 ok
11 1320 0 90 17
12 1323 0 0 0
12 i323 0 0 39
13 1326 21 0 0
13 1326 0 0 0
14 1331 0 oo e o % 0
14 1331 0 0 0

*x%x% INDICATES UNAVAILABLE OR FAULTY DATA
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6. Tabulation of Meteorological Data

6.1 Hourly Averaged Wind Speed and Direction Data (Table 17)

Data in the following table are assumed to represent hourly
averaged wind speed and direction at each data station. As previously
noted in Table 4, data for five stations are taken from hourly
observations. Wind direction is listed tc the nearest 10 degrees,
although data from several stations were given in terms of either a
16-point or 8-point compass. Wind speeds have been converted to
meters/second x 10 for tabulation purposes. Wind direction data from
the Dow surface, Dow tower, Brentwood and the Rancho Seco tower were
used to determine the hourly standard deviation,oe, of the horizontal
wind. Values of Tg and the related Pasquill stability class

are given for these stations.
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TABLE 18

6.2 Montezuma Hills Pibal Summary

The following pibal data were obtained from MRI; the Oakland

upper air data were obtained from the ARB.
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Oakland Upper Air Data
National Weather Service

Time: 0500 PDT | 1700 PDT
Date Height Wind Wind Wind Wind
Direction Speed Direction Speed

(m) (deg) (m/sec) (deg) (m/sec)

8/31/76 0 0 0 280 4.5
305 310 1.3 300 4.0
610 320 3.6 310 3.1

9/2/76 0 320 2.7 310 3.6
305 290 1.3
610 310 0.9

9/5/76 0 300 1.3
305 220 3.6
610 210 6.7

9/6/76 0 300 3.6
305 ‘ 280 5.4
610 260 4.5

9/9/76 0 0 0 300 4.0
305 210 0.9 290 5.4
610 240 0.9 270 3.6

9/10/76 0 240 1.3 310 4.5
305 210 2.7 300 5.4
610 240 2.7 280 5.8

9/13/76 0 100 2.2 , 290 3.6
305 250 0.9 290 5.4
610 310 1.3 300 2.7

9/14/76 0 110 2.2 240 A4
305 190 2.7 270 4
610 290 4.0 300 7.6
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TABLE 19

6.3 Estimation of Mixing Layer Depth™

Time Station
(PDT) Dow B&W Livermore Pinole Junction
Resort J2 & Cal 4

Test 1 (8/31/76) (meters)

1000 520 400
1100 200 500 380
1200 220 500 380
1300 250 510 360
1400 370 640 380
1500 1000 1180 450
1600 2300 2300 - 600
1700 2300 2300 910
1800 1300

Test 2 (9/2/76)

0900

1000 300 490 640
1100 300 480 640
1200 350 500

1300 500 580

1400 880 680

1500 1100 860

1600 1180 1500

1700 1200 1500

* Data estimated by MRI personnel based upon wind and temperature vertical

profiles.
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TABLE 19 (cont.)

Time Station

(PDT) Dow B &W Livermore Pinole Junction
Resort J2 & Cal 4

Test 3 (9/4 - 9/5/76)

1700 1500

1800 1500 1080

1900 1020 900

2000 800

2100 700 '

2200 700

2300 720

0000 800 800

0100 920 720

0200 900 700

0300 970

0400 1100 690

0500 1300 700

0600 740
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TABLE 19 (cont.)

Time Station

(PDT) Dow B &W Livermore Pinole Junction
Resort J2 & Cal 4

Test 4 (9/6/76)

1600 1130

1700 590 1100

1800 550 660

1900 490 560

2000 440 580 ‘
2100 400

2200 400 600

2300 380 570

0000 520

Test 5 (9/9/76)

0900 580
1000 900 540
1100 700 | 540
1200 780 1120 610
1300 3000 3000 1190
1400 3000 3000 3000
1500 3000
1600 3000
1700 3000
1800 3000

1900 3000
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TABLE 19 (cont.)

Time Station

(PDT) Dow B &W Livermore Pinole Junction
Resort J2 & Cal 4

Test 6 (9/10/76)

0730 530

0800 470

0830

0900 490

0930 730 '

1000 540

1030 920

1100 730 890

1130 1150

1200 1200 910

1230 3000

1300 3000

1400 1240 3000

1430 3000

1500 1020 3000
| 1600 870 3000

1700 790 - 1180

1800 680 890

1900 600
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TABLE 19 (cont.)

Time Station

(PDT) Dow B&W Livermore Pinole Junction
Resort J2 & Cal 4

Test 7 (9/13/76)

0630 460
0700 450
0730

0800 300 410 390
0900 300 470 330
1000 300 1160 300
1100 450 1500 310
1200 1500 1500 400
1300 1500 1500 700
1400 1500 1240 1500
1500 1500 960 1500
1600 610

1700 590

1800 500

Test 8 (9/14/76)

0630 270
0700 270
0800 300 690 280
0900 360 630 350
1000 490 710 480
1100 800 3000 400
1200 3000 3000 300
1300 3000 300
1400 3000 380
1500 3000 520
1600 3000 3000 3000

1700 3000 3000
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6.4 Upper Air Average Wind Data

The data in the following table represent the vector averaged
upper air wind speed and direction for each hour where pibal data were
available. These data were obtained by averaging the pibal measurements

from the surface to the height of the mixing layer.
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